MooE TR O#

(BAz: )

N

i IE &

i IE wi %

MoOE #

fi 1IE & O

41,845,860

110,848

41,956,708

75,442,814

110,848

75,553,662




ARMBEE R AFTHE(HES2H) 0 EERE
5 i T )
- MW W ®
Sl I £ % 4 % N R WERA \
= ERKHA| HH | ot | R
FHm AL AR IE ORI AR DI O 7 T
K7 B CHE A AT SRR Ml (D i & s
Ul ok g |FTEREEESERIR L o oxs n GeglE RiAK 2,1000) 105,000{ 105,000
LRSS % TR R T U H B ORI O O L0 B
He L (ERBUIE B0 175 C A (S7-0 L)
X TR : [ AT Bh 4
st et s | BT L ARG O B AR DT T8 C R
2 (R o g [ LIS IR R 5 4 CUARETE SERAIGH 1= O B0 5808 5,808
MZ A H L D
= 7 Gl EAERRER) 110,848 110,848




(2] HEIOFT VAN ABREERGIZHRITFEREDIKR (B4fir - 1)
oA L AR5 O IR
=== % N
sat | wiE | mm e | OEIEIET DAL H gt EE Gb skl R e | wEaRE . it
%D+ *ﬁIE ?%‘IE%E (/ LA%E) I ﬂ% (EEHJ'*%IE«‘J‘E) I ﬂffﬁ%%lj\jﬁ j{l‘:lj(j:t\ %H#&_\.'fﬂ-%) jztlj(jz\ /S‘ééj%gk% %% (jgﬂ‘%‘ﬁ\) 7@!\‘@%
I VLT S0 . SR
EL) —fx | - - | 88,343/ NI A — L« A — - 25 T [ 685 9,050 78,608
I |/£)\mE$E%EEF'¢mH CARDIEN T4
‘ : Vo e o
MHIEBE | — & | #15 1,057,860 1,057,860 om0 s F  HfEf % 908,470 (350,436) 149,390
| 57&/»— TETHER AREE 5
| I
4H21RE | —fi% | 2% 110,848l 110,8481 7B CHAHF A TS AR BG4 110,848
| |
I I
&t 1,168,708: 1,257,051: 1,020,003 (350,436) 9,050 227,998
e e J
!
AR CHFSFE LIRS N 7 B 378 ) (JRERFEHED) 4,976
[E| DB YA IE T 547 - &5k 1 (95 AT DA IR AR : 420,362 T 1) 345,460 [
AFt (S3HEERATHEALS) 350,436

¥ 420,362 1 £345,460 T [ D#4674,902 T ML, A2 EMIEE 9B T Lk



SABCHIWTHE R D RiA A

(Effa:ﬁ%%%’?%& 6.9 4.5 11. 4 90.5 A 1,500, 000
(Effa:ﬁ%%%’?%& 6.9 4.5 11. 4 90.5 A 1,500, 000
E?f%%@;%ﬁ 6.9 74.5 11.4 90. 5 A 1,350, 000
W B W £ (L YE(E) 10.0 75.0 5.0 91.0 —
W B TR £ (H AR AE) 8.0 72.0 9.0 88.0 —




